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NEW QUESTION 1
- (Exam Topic 1)
For this question, refer to the Mountkirk Games case study
Mountkirk Games needs to create a repeatable and configurable mechanism for deploying isolated application environments. Developers and testers can access
each other's environments and resources, but they cannot access staging or production resources. The staging environment needs access to some services from
production.
What should you do to isolate development environments from staging and production?

A. Create a project for development and test and another for staging and production.
B. Create a network for development and test and another for staging and production.
C. Create one subnetwork for development and another for staging and production.
D. Create one project for development, a second for staging and a third for production.

Answer: D

NEW QUESTION 2
- (Exam Topic 1)
For this question, refer to the Mountkirk Games case study.
Mountkirk Games wants you to design their new testing strategy. How should the test coverage differ from their existing backends on the other platforms?

A. Tests should scale well beyond the prior approaches.
B. Unit tests are no longer required, only end-to-end tests.
C. Tests should be applied after the release is in the production environment.
D. Tests should include directly testing the Google Cloud Platform (GCP) infrastructure.

Answer: A

Explanation: 
 From Scenario:
A few of their games were more popular than expected, and they had problems scaling their application servers, MySQL databases, and analytics tools.
Requirements for Game Analytics Platform include: Dynamically scale up or down based on game activity

NEW QUESTION 3
- (Exam Topic 1)
For this question, refer to the Mountkirk Games case study.
Mountkirk Games' gaming servers are not automatically scaling properly. Last month, they rolled out a new feature, which suddenly became very popular. A record
number of users are trying to use the service, but many of them are getting 503 errors and very slow response times. What should they investigate first?

A. Verify that the database is online.
B. Verify that the project quota hasn't been exceeded.
C. Verify that the new feature code did not introduce any performance bugs.
D. Verify that the load-testing team is not running their tool against production.

Answer: B

Explanation: 
503 is service unavailable error. If the database was online everyone would get the 503 error. https://cloud.google.com/docs/quota#capping_usage

NEW QUESTION 4
- (Exam Topic 2)
For this question refer to the TerramEarth case study
Operational parameters such as oil pressure are adjustable on each of TerramEarth's vehicles to increase their efficiency, depending on their environmental
conditions. Your primary goal is to increase the operating efficiency of all 20 million cellular and unconnected vehicles in the field How can you accomplish this
goal?

A. Have your engineers inspect the data for patterns, and then create an algorithm with rules that makeoperational adjustments automatically.
B. Capture all operating data, train machine learning models that identify ideal operations, and run locally to make operational adjustments automatically.
C. Implement a Google Cloud Dataflow streaming job with a sliding window, and use Google Cloud Messaging (GCM) to make operational adjustments
automatically.
D. Capture all operating data, train machine learning models that identify ideal operations, and host in Google Cloud Machine Learning (ML) Platform to make
operational adjustments automatically.

Answer: B

NEW QUESTION 5
- (Exam Topic 2)
For this question refer to the TerramEarth case study.
Which of TerramEarth's legacy enterprise processes will experience significant change as a result of increased Google Cloud Platform adoption.

A. Opex/capex allocation, LAN changes, capacity planning
B. Capacity planning, TCO calculations, opex/capex allocation
C. Capacity planning, utilization measurement, data center expansion
D. Data Center expansion, TCO calculations, utilization measurement

Answer: B

Explanation: 
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Capacity planning, TCO calculations, opex/capex allocation From the case study, it can conclude that Management (CXO) all concern rapid provision of resources
(infrastructure) for growing as well as cost management, such as Cost optimization in Infrastructure, trade up front capital expenditures (Capex) for ongoing
operating expenditures (Opex), and Total cost of ownership (TCO)

NEW QUESTION 6
- (Exam Topic 3)
For this question, refer to the JencoMart case study.
The migration of JencoMart’s application to Google Cloud Platform (GCP) is progressing too slowly. The infrastructure is shown in the diagram. You want to
maximize throughput. What are three potential bottlenecks? (Choose 3 answers.)

A. A single VPN tunnel, which limits throughput
B. A tier of Google Cloud Storage that is not suited for this task
C. A copy command that is not suited to operate over long distances
D. Fewer virtual machines (VMs) in GCP than on-premises machines
E. A separate storage layer outside the VMs, which is not suited for this task
F. Complicated internet connectivity between the on-premises infrastructure and GCP

Answer: ADF

NEW QUESTION 7
- (Exam Topic 4)
For this question, refer to the Dress4Win case study.
Dress4Win has asked you to recommend machine types they should deploy their application servers to. How should you proceed?

A. Perform a mapping of the on-premises physical hardware cores and RAM to the nearest machine types in the cloud.
B. Recommend that Dress4Win deploy application servers to machine types that offer the highest RAM to CPU ratio available.
C. Recommend that Dress4Win deploy into production with the smallest instances available, monitor them over time, and scale the machine type up until the
desired performance is reached.
D. Identify the number of virtual cores and RAM associated with the application server virtual machines align them to a custom machine type in the cloud, monitor
performance, and scale the machine types up until the desired performance is reached.

Answer: C

NEW QUESTION 8
- (Exam Topic 4)
For this question, refer to the Dress4Win case study.
Dress4Win has asked you for advice on how to migrate their on-premises MySQL deployment to the cloud. They want to minimize downtime and performance
impact to their on-premises solution during the migration. Which approach should you recommend?

A. Create a dump of the on-premises MySQL master server, and then shut it down, upload it to the cloud environment, and load into a new MySQL cluster.
B. Setup a MySQL replica server/slave in the cloud environment, and configure it for asynchronous replication from the MySQL master server on-premises until
cutover.
C. Create a new MySQL cluster in the cloud, configure applications to begin writing to both on-premises and cloud MySQL masters, and destroy the original cluster
at cutover.
D. Create a dump of the MySQL replica server into the cloud environment, load it into: Google Cloud Datastore, and configure applications to read/write to Cloud
Datastore at cutover.

Answer: B

NEW QUESTION 9
- (Exam Topic 4)
For this question, refer to the Dress4Win case study.
Dress4Win has configured a new uptime check with Google Stackdriver for several of their legacy services. The Stackdriver dashboard is not reporting the
services as healthy. What should they do?

A. Install the Stackdriver agent on all of the legacy web servers.
B. In the Cloud Platform Console download the list of the uptime servers' IP addresses and create an inbound firewall rule
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C. Configure their load balancer to pass through the User-Agent HTTP header when the value matches GoogleStackdriverMonitoring-UptimeChecks
(https://cloud.google.com/monitoring)
D. Configure their legacy web servers to allow requests that contain user-Agent HTTP header when the value matches GoogleStackdriverMonitoring—
UptimeChecks (https://cloud.google.com/monitoring)

Answer: B

NEW QUESTION 10
- (Exam Topic 4)
For this question, refer to the Dress4Win case study.
At Dress4Win, an operations engineer wants to create a tow-cost solution to remotely archive copies of database backup files. The database files are compressed
tar files stored in their current data center. How should he proceed?

A. Create a cron script using gsutil to copy the files to a Coldline Storage bucket.
B. Create a cron script using gsutil to copy the files to a Regional Storage bucket.
C. Create a Cloud Storage Transfer Service Job to copy the files to a Coldline Storage bucket.
D. Create a Cloud Storage Transfer Service job to copy the files to a Regional Storage bucket.

Answer: A

Explanation: 
Follow these rules of thumb when deciding whether to use gsutil or Storage Transfer Service:

 When transferring data from an on-premises location, use gsutil.

 When transferring data from another cloud storage provider, use Storage Transfer Service.

 Otherwise, evaluate both tools with respect to your specific scenario.
Use this guidance as a starting point. The specific details of your transfer scenario will also help you determine which tool is more appropriate
https://cloud.google.com/storage-transfer/docs/overview

NEW QUESTION 10
- (Exam Topic 4)
For this question, refer to the Dress4Win case study.
As part of Dress4Win's plans to migrate to the cloud, they want to be able to set up a managed logging and monitoring system so they can handle spikes in their
traffic load. They want to ensure that:
• The infrastructure can be notified when it needs to scale up and down to handle the ebb and flow of usage throughout the day
• Their administrators are notified automatically when their application reports errors.
• They can filter their aggregated logs down in order to debug one piece of the application across many hosts Which Google StackDriver features should they use?

A. Logging, Alerts, Insights, Debug
B. Monitoring, Trace, Debug, Logging
C. Monitoring, Logging, Alerts, Error Reporting
D. Monitoring, Logging, Debug, Error Report

Answer: D

NEW QUESTION 14
- (Exam Topic 5)
Google Cloud Platform resources are managed hierarchically using organization, folders, and projects. When Cloud Identity and Access Management (IAM)
policies exist at these different levels, what is the effective policy at a particular node of the hierarchy?

A. The effective policy is determined only by the policy set at the node
B. The effective policy is the policy set at the node and restricted by the policies of its ancestors
C. The effective policy is the union of the policy set at the node and policies inherited from its ancestors
D. The effective policy is the intersection of the policy set at the node and policies inherited from its ancestors

Answer: B

Explanation: 
Reference: https://cloud.google.com/resource-manager/docs/cloud-platform-resource-hierarchy 

NEW QUESTION 18
- (Exam Topic 5)
Your company has decided to build a backup replica of their on-premises user authentication PostgreSQL database on Google Cloud Platform. The database is 4
TB, and large updates are frequent. Replication requires private address space communication. Which networking approach should you use?

A. Google Cloud Dedicated Interconnect
B. Google Cloud VPN connected to the data center network
C. A NAT and TLS translation gateway installed on-premises
D. A Google Compute Engine instance with a VPN server installed connected to the data center network

Answer: A

Explanation: 
https://cloud.google.com/docs/enterprise/best-practices-for-enterprise-organizations
Google Cloud Dedicated Interconnect provides direct physical connections and RFC 1918 communication between your on-premises network and Google’s
network. Dedicated Interconnect enables you to transfer large amounts of data between networks, which can be more cost effective than purchasing additional
bandwidth over the public Internet or using VPN tunnels.
Benefits:
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 Traffic between your on-premises network and your VPC network doesn't traverse the public Internet.
Traffic traverses a dedicated connection with fewer hops, meaning there are less points of failure where traffic might get dropped or disrupted.

 Your VPC network's internal (RFC 1918) IP addresses are directly accessible from your on-premises network. You don't need to use a NAT device or VPN
tunnel to reach internal IP addresses. Currently, you can only reach internal IP addresses over a dedicated connection. To reach Google external IP addresses,
you must use a separate connection.

 You can scale your connection to Google based on your needs. Connection capacity is delivered over one or more 10 Gbps Ethernet connections, with a
maximum of eight connections (80 Gbps total per interconnect).

 The cost of egress traffic from your VPC network to your on-premises network is reduced. A dedicated connection is generally the least expensive method if
you have a high-volume of traffic to and from Google’s network.
References: https://cloud.google.com/interconnect/docs/details/dedicated

NEW QUESTION 22
- (Exam Topic 5)
You deploy your custom Java application to Google App Engine. It fails to deploy and gives you the following stack trace.

What should you do?

A. Upload missing JAR files and redeploy your application.
B. Digitally sign all of your JAR files and redeploy your application
C. Recompile the CLoakedServlet class using and MD5 hash instead of SHA1

Answer: B

NEW QUESTION 25
- (Exam Topic 5)
Your company has successfully migrated to the cloud and wants to analyze their data stream to optimize operations. They do not have any existing code for this
analysis, so they are exploring all their options. These options include a mix of batch and stream processing, as they are running some hourly jobs and
live-processing some data as it comes in. Which technology should they use for this?

A. Google Cloud Dataproc
B. Google Cloud Dataflow
C. Google Container Engine with Bigtable
D. Google Compute Engine with Google BigQuery

Answer: B

Explanation: 
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Dataflow is for processing both the Batch and Stream.
Cloud Dataflow is a fully-managed service for transforming and enriching data in stream (real time) and batch (historical) modes with equal reliability and
expressiveness -- no more complex workarounds or compromises needed.
References: https://cloud.google.com/dataflow/

NEW QUESTION 28
- (Exam Topic 5)
Your company has an enterprise application running on Compute Engine that requires high availability and high performance. The application has been deployed
on two instances in two zones in the same region m active passive mode. The application writes data to a persistent disk in the case of a single zone outage that
data should be immediately made available to the other instance in the other zone. You want to maximize performance while minimizing downtime and data loss.
What should you do?

A. * 1. Attach a persistent SSD disk to the first instance* 2. Create a snapshot every hour* 3. In case of a zone outage, recreate a persistent SSD disk in the
second instance where data is coming from the created snapshot
B. * 1 Create a Cloud Storage bucket* 2. Mount the bucket into the first instance with gcs-fuse* 3. In case of a zone outage, mount the Cloud Storage bucket to the
second instance with gcs-fuse
C. * 1 Attach a local SSD lo the first instance disk* 2. Execute an rsync command every hour where the target is a persistent SSD disk attached to the second
instance* 3. In case of a zone outage, use the second instance
D. * 1. Attach a regional SSD persistent Ask to the first instance* 2. In case of a zone outage, force-attach the disk to the other instance

Answer: D

NEW QUESTION 30
- (Exam Topic 5)
You are using Cloud Shell and need to install a custom utility for use in a few weeks. Where can you store the file so it is in the default execution path and persists
across sessions?

A. ~/bin
B. Cloud Storage
C. /google/scripts
D. /usr/local/bin

Answer: D

Explanation: 
https://medium.com/google-cloud/no-localhost-no-problem-using-google-cloud-shell-as-my-full-time-developm

NEW QUESTION 33
- (Exam Topic 5)
You want to enable your running Google Kubernetes Engine cluster to scale as demand for your application changes.
What should you do?

A. Add additional nodes to your Kubernetes Engine cluster using the following command:gcloud container clusters resizeCLUSTER_Name – -size 10
B. Add a tag to the instances in the cluster with the following command:gcloud compute instances add-tagsINSTANCE - -tags enable-autoscaling max-nodes-10
C. Update the existing Kubernetes Engine cluster with the following command:gcloud alpha container clustersupdate mycluster - -enable-autoscaling - -min-
nodes=1 - -max-nodes=10
D. Create a new Kubernetes Engine cluster with the following command:gcloud alpha container clusterscreate mycluster - -enable-autoscaling - -min-nodes=1 -
-max-nodes=10and redeploy your application

Answer: C

Explanation: 
https://cloud.google.com/kubernetes-engine/docs/concepts/cluster-autoscaler To enable autoscaling for an existing node pool, run the following command:
gcloud container clusters update [CLUSTER_NAME] --enable-autoscaling \--min-nodes 1 --max-nodes 10
--zone [COMPUTE_ZONE] --node-pool default-pool

NEW QUESTION 34
- (Exam Topic 5)
You have found an error in your App Engine application caused by missing Cloud Datastore indexes. You have created a YAML file with the required indexes and
want to deploy these new indexes to Cloud Datastore.
What should you do?

A. Point gcloud datastore create-indexes to your configuration file
B. Upload the configuration file the App Engine’s default Cloud Storage bucket, and have App Engine detect the new indexes
C. In the GCP Console, use Datastore Admin to delete the current indexes and upload the new configuration file
D. Create an HTTP request to the built-in python module to send the index configuration file to your application

Answer: A

NEW QUESTION 38
- (Exam Topic 5)
Your company has just recently activated Cloud Identity to manage users. The Google Cloud Organization has been configured as wed. The security learn needs
to secure protects that will be part of the Organization. They want to prohibit IAM users outside the domain from gaining permissions from now on. What should
they do?

A. Configure an organization policy to restrict identities by domain
B. Configure an organization policy to block creation of service accounts
C. Configure Cloud Scheduler o trigger a Cloud Function every hour that removes all users that don't belong to the Cloud identity domain from all projects.
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D. Create a technical user (e g . crawler@yourdomain com), and give it the protect owner rote at root organization level Write a bash script that• Lists all me IAM
rules of all projects within the organization• Deletes all users that do not belong to the company domainCreate a Compute Engine instance m a project within the
Organization and configure gcloud to be executed with technical user credentials Configure a cron job that executes the bash script every hour.

Answer: A

NEW QUESTION 39
- (Exam Topic 5)
Your company creates rendering software which users can download from the company website. Your company has customers all over the world. You want to
minimize latency for all your customers. You want to follow Google-recommended practices.
How should you store the files?

A. Save the files in a Multi-Regional Cloud Storage bucket.
B. Save the files in a Regional Cloud Storage bucket, one bucket per zone of the region.
C. Save the files in multiple Regional Cloud Storage buckets, one bucket per zone per region.
D. Save the files in multiple Multi-Regional Cloud Storage buckets, one bucket per multi-region.

Answer: A

Explanation: 
https://cloud.google.com/storage/docs/locations#location-mr

NEW QUESTION 42
- (Exam Topic 5)
You need to ensure reliability for your application and operations by supporting reliable task a scheduling for compute on GCP. Leveraging Google best practices,
what should you do?

A. Using the Cron service provided by App Engine, publishing messages directly to a message-processing utility service running on Compute Engine instances.
B. Using the Cron service provided by App Engine, publish messages to a Cloud Pub/Sub topi
C. Subscribe to that topic using a message-processing utility service running on Compute Engine instances.
D. Using the Cron service provided by Google Kubernetes Engine (GKE), publish messages directly to a message-processing utility service running on Compute
Engine instances.
E. Using the Cron service provided by GKE, publish messages to a Cloud Pub/Sub topi
F. Subscribe to that topic using a message-processing utility service running on Compute Engine instances.

Answer: B

Explanation: 
https://cloud.google.com/solutions/reliable-task-scheduling-compute-engine

NEW QUESTION 44
- (Exam Topic 5)
You need to deploy an application to Google Cloud. The application receives traffic via TCP and reads and writes data to the filesystem. The application does not
support horizontal scaling. The application process requires full control over the data on the file system because concurrent access causes corruption. The
business is willing to accept a downtime when an incident occurs, but the application must be available 24/7 to support their business operations. You need to
design the architecture of this application on Google Cloud.
What should you do?

A. Use a managed instance group with instances in multiple zones, use Cloud Filestore, and use an HTTP load balancer in front of the instances.
B. Use a managed instance group with instances in multiple zones, use Cloud Filestore, and use a network load balancer in front of the instances.
C. Use an unmanaged instance group with an active and standby instance in different zones, use a regional persistent disk, and use an HTTP load balancer in
front of the instances.
D. Use an unmanaged instance group with an active and standby instance in different zones, use a regional persistent disk, and use a network load balancer in
front of the instances.

Answer: D

Explanation: 
Reference: https://cloud.google.com/compute/docs/instance-groups 

NEW QUESTION 47
- (Exam Topic 5)
Your BigQuery project has several users. For audit purposes, you need to see how many queries each user ran in the last month.

A. Connect Google Data Studio to BigQuer
B. Create a dimension for the users and a metric for the amount of queries per user.
C. In the BigQuery interface, execute a query on the JOBS table to get the required information.
D. Use ‘bq show’ to list all job
E. Per job, use ‘bq Is’ to list job information and get the required information.
F. Use Cloud Audit Logging to view Cloud Audit Logs, and create a filter on the query operation to get the required information.

Answer: C

Explanation: 
https://cloud.google.com/bigquery/docs/managing-jobs

NEW QUESTION 51
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- (Exam Topic 5)
Your company's test suite is a custom C++ application that runs tests throughout each day on Linux virtual machines. The full test suite takes several hours to
complete, running on a limited number of on premises servers reserved for testing. Your company wants to move the testing infrastructure to the cloud, to reduce
the amount of time it takes to fully test a change to the system, while changing the tests as little as possible. Which cloud infrastructure should you recommend?

A. Google Compute Engine unmanaged instance groups and Network Load Balancer
B. Google Compute Engine managed instance groups with auto-scaling
C. Google Cloud Dataproc to run Apache Hadoop jobs to process each test
D. Google App Engine with Google Stackdriver for logging

Answer: B

Explanation: 
https://cloud.google.com/compute/docs/instance-groups/
Google Compute Engine enables users to launch virtual machines (VMs) on demand. VMs can be launched from the standard images or custom images created
by users.
Managed instance groups offer autoscaling capabilities that allow you to automatically add or remove instances from a managed instance group based on
increases or decreases in load. Autoscaling helps your applications gracefully handle increases in traffic and reduces cost when the need for resources is lower.

NEW QUESTION 53
- (Exam Topic 5)
You are designing a mobile chat application. You want to ensure people cannot spoof chat messages, by providing a message were sent by a specific user.
What should you do

A. Tag messages client side with the originating user identifier and the destination user.
B. Encrypt the message client side using block-based encryption with a shared key.
C. Use public key infrastructure (PKI) to encrypt the message client side using the originating user's private key.
D. Use a trusted certificate authority to enable SSL connectivity between the client application and the server.

Answer: C

NEW QUESTION 55
- (Exam Topic 5)
Your company acquired a healthcare startup and must retain its customers’ medical information for up to 4 more years, depending on when it was created. Your
corporate policy is to securely retain this data, and then delete it as soon as regulations allow.
Which approach should you take?

A. Store the data in Google Drive and manually delete records as they expire.
B. Anonymize the data using the Cloud Data Loss Prevention API and store it indefinitely.
C. Store the data using the Cloud Storage and use lifecycle management to delete files when they expire.
D. Store the data in Cloud Storage and run a nightly batch script that deletes all expired datA.

Answer: C

Explanation: 
https://cloud.google.com/storage/docs/lifecycle

NEW QUESTION 57
- (Exam Topic 5)
You are developing a globally scaled frontend for a legacy streaming backend data API. This API expects events in strict chronological order with no repeat data
for proper processing.
Which products should you deploy to ensure guaranteed-once FIFO (first-in, first-out) delivery of data?

A. Cloud Pub/Sub alone
B. Cloud Pub/Sub to Cloud DataFlow
C. Cloud Pub/Sub to Stackdriver
D. Cloud Pub/Sub to Cloud SQL

Answer: B

Explanation: 
Reference https://cloud.google.com/pubsub/docs/ordering

NEW QUESTION 60
- (Exam Topic 5)
Your application needs to process credit card transactions. You want the smallest scope of Payment Card Industry (PCI) compliance without compromising the
ability to analyze transactional data and trends relating to which payment methods are used. How should you design your architecture?

A. Create a tokenizer service and store only tokenized data.
B. Create separate projects that only process credit card data.
C. Create separate subnetworks and isolate the components that process credit card data.
D. Streamline the audit discovery phase by labeling all of the virtual machines (VMs) that process PCI data.
E. Enable Logging export to Google BigQuery and use ACLs and views to scope the data shared with the auditor.

Answer: A

Explanation: 
https://cloud.google.com/solutions/pci-dss-compliance-in-gcp
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NEW QUESTION 64
- (Exam Topic 5)
You are working at an institution that processes medical data. You are migrating several workloads onto Google Cloud. Company policies require all workloads to
run on physically separated hardware, and workloads from different clients must also be separated You created a sole-tenant node group and added a node for
each client. You need to deploy the workloads on these dedicated hosts. What should you do?

A. Add the node group name as a network tag when creating Compute Engine instances in order to host each workload on the correct node group.
B. Add the node name as a network tag when creating Compute Engine instances in order to host each workload on the correct node.
C. Use node affinity labels based on the node group name when creating Compute Engine instances in order to host each workload on the correct node group
D. Use node affinity labels based on the node name when creating Compute Engine instances in order to host each workload on the correct node.

Answer: C

Explanation: 
https://cloud.google.com/compute/docs/nodes/provisioning-sole-tenant-vms#provision_a_sole-tenant_vm
https://cloud.google.com/compute/docs/nodes/provisioning-sole-tenant-vms#gcloud_2
When you create a VM, you request sole-tenancy by specifying node affinity or anti-affinity, referencing one or more node affinity labels. You specify custom node
affinity labels when you create a node template, and Compute Engine automatically includes some default affinity labels on each node. By specifying affinity when
you create a VM, you can schedule VMs together on a specific node or nodes in a node group. By specifying anti-affinity when you create a VM, you can ensure
that certain VMs are not scheduled together on the same node or nodes in a node group.

NEW QUESTION 67
- (Exam Topic 5)
Your company is building a new architecture to support its data-centric business focus. You are responsible for setting up the network. Your company’s mobile
and web-facing applications will be deployed on-premises, and all data analysis will be conducted in GCP. The plan is to process and load 7 years of archived .csv
files totaling 900 TB of data and then continue loading 10 TB of data daily. You currently have an existing 100-MB internet connection.
What actions will meet your company’s needs?

A. Compress and upload both achieved files and files uploaded daily using the qsutil –m option.
B. Lease a Transfer Appliance, upload archived files to it, and send it, and send it to Google to transfer archived data to Cloud Storag
C. Establish a connection with Google using a Dedicated Interconnect or Direct Peering connection and use it to upload files daily.
D. Lease a Transfer Appliance, upload archived files to it, and send it, and send it to Google to transferarchived data to Cloud Storag
E. Establish one Cloud VPN Tunnel to VPC networks over the public internet, and compares and upload files daily using the gsutil –m option.
F. Lease a Transfer Appliance, upload archived files to it, and send it to Google to transfer archived data to Cloud Storag
G. Establish a Cloud VPN Tunnel to VPC networks over the public internet, and compress and upload files daily.

Answer: B

Explanation: 
https://cloud.google.com/interconnect/docs/how-to/direct-peering

NEW QUESTION 69
- (Exam Topic 5)
Your organization has stored sensitive data in a Cloud Storage bucket. For regulatory reasons, your company must be able to rotate the encryption key used to
encrypt the data in the bucket. The data will be processed in Dataproc. You want to follow Google-recommended practices for security What should you do?

A. Create a key with Cloud Key Management Service (KMS) Encrypt the data using the encrypt method of Cloud KMS.
B. Create a key with Cloud Key Management Service (KMS). Set the encryption key on the bucket to the Cloud KMS key.
C. Generate a GPG key pai
D. Encrypt the data using the GPG ke
E. Upload the encrypted data to the bucket.
F. Generate an AES-256 encryption ke
G. Encrypt the data in the bucket using the customer-supplied encryption keys feature.

Answer: B

Explanation: 
https://cloud.google.com/storage/docs/encryption/using-customer-managed-keys#add-object-key https://cloud.google.com/storage/docs/encryption/using-customer-
managed-keys

NEW QUESTION 70
- (Exam Topic 5)
You are designing an application for use only during business hours. For the minimum viable product release, you’d like to use a managed product that
automatically “scales to zero” so you don’t incur costs when there is no activity.
Which primary compute resource should you choose?

A. Cloud Functions
B. Compute Engine
C. Kubernetes Engine
D. AppEngine flexible environment

Answer: A

Explanation: 
https://cloud.google.com/serverless-options

NEW QUESTION 72
- (Exam Topic 5)
You need to develop procedures to test a disaster plan for a mission-critical application. You want to use Google-recommended practices and native capabilities
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within GCP.
What should you do?

A. Use Deployment Manager to automate service provisionin
B. Use Activity Logs to monitor and debug your tests.
C. Use Deployment Manager to automate provisionin
D. Use Stackdriver to monitor and debug your tests.
E. Use gcloud scripts to automate service provisionin
F. Use Activity Logs monitor and debug your tests.
G. Use automated scripts to automate service provisionin
H. Use Activity Logs monitor and debug your tests.

Answer: B

Explanation: 
https://cloud.google.com/solutions/dr-scenarios-planning-guide

NEW QUESTION 75
- (Exam Topic 5)
You have an outage in your Compute Engine managed instance group: all instance keep restarting after 5 seconds. You have a health check configured, but
autoscaling is disabled. Your colleague, who is a Linux expert, offered to look into the issue. You need to make sure that he can access the VMs. What should you
do?

A. Grant your colleague the IAM role of project Viewer
B. Perform a rolling restart on the instance group
C. Disable the health check for the instance grou
D. Add his SSH key to the project-wide SSH keys
E. Disable autoscaling for the instance grou
F. Add his SSH key to the project-wide SSH Keys

Answer: C

Explanation: 
https://cloud.google.com/compute/docs/instance-groups/autohealing-instances-in-migs
Health checks used for autohealing should be conservative so they don't preemptively delete and recreate your instances. When an autohealer health check is too
aggressive, the autohealer might mistake busy instances for failed instances and unnecessarily restart them, reducing availability

NEW QUESTION 80
- (Exam Topic 5)
Your customer is moving their corporate applications to Google Cloud Platform. The security team wants detailed visibility of all projects in the organization. You
provision the Google Cloud Resource Manager and set up yourself as the org admin. What Google Cloud Identity and Access Management (Cloud IAM) roles
should you give to the security team'?

A. Org viewer, project owner
B. Org viewer, project viewer
C. Org admin, project browser
D. Project owner, network admin

Answer: B

Explanation: 
https://cloud.google.com/iam/docs/using-iam-securely

NEW QUESTION 84
- (Exam Topic 5)
A lead software engineer tells you that his new application design uses websockets and HTTP sessions that are not distributed across the web servers. You want
to help him ensure his application will run property on Google Cloud Platform. What should you do?

A. Help the engineer to convert his websocket code to use HTTP streaming.
B. Review the encryption requirements for websocket connections with the security team.
C. Meet with the cloud operations team and the engineer to discuss load balancer options.
D. Help the engineer redesign the application to use a distributed user session service that does not rely on websockets and HTTP sessions.

Answer: C

Explanation: 
Google Cloud Platform (GCP) HTTP(S) load balancing provides global load balancing for HTTP(S) requests destined for your instances.
The HTTP(S) load balancer has native support for the WebSocket protocol.

NEW QUESTION 89
- (Exam Topic 5)
Your company is using Google Cloud. You have two folders under the Organization: Finance and Shopping. The members of the development team are in a
Google Group. The development team group has been assigned the Project Owner role on the Organization. You want to prevent the development team from
creating resources in projects in the Finance folder. What should you do?

A. Assign the development team group the Project Viewer role on the Finance folder, and assign the development team group the Project Owner role on the
Shopping folder.
B. Assign the development team group only the Project Viewer role on the Finance folder.
C. Assign the development team group the Project Owner role on the Shopping folder, and remove the development team group Project Owner role from the
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Organization.
D. Assign the development team group only the Project Owner role on the Shopping folder.

Answer: C

Explanation: 
https://cloud.google.com/resource-manager/docs/cloud-platform-resource-hierarchy
"Roles are always inherited, and there is no way to explicitly remove a permission for a lower-level resource that is granted at a higher level in the resource
hierarchy. Given the above example, even if you were to remove the Project Editor role from Bob on the "Test GCP Project", he would still inherit that role from the
"Dept Y" folder, so he would still have the permissions for that role on "Test GCP Project"."
Reference: https://cloud.google.com/resource-manager/docs/creating-managing-folders

NEW QUESTION 93
- (Exam Topic 5)
You are managing an application deployed on Cloud Run for Anthos, and you need to define a strategy for deploying new versions of the application. You want to
evaluate the new code with a subset of production traffic to decide whether to proceed with the rollout. What should you do?

A. Deploy a new revision to Cloud Run with the new versio
B. Configure traffic percentage between revisions.
C. Deploy a new service to Cloud Run with the new versio
D. Add a Cloud Load Balancing instance in front of both services.
E. In the Google Cloud Console page for Cloud Run, set up continuous deployment using Cloud Build for the development branc
F. As part of the Cloud Build trigger, configure the substitution variable TRAFFIC_PERCENTAGE with the percentage of traffic you want directed to a new version.
G. In the Google Cloud Console, configure Traffic Director with a new Service that points to the newversion of the application on Cloud Ru
H. Configure Traffic Director to send a small percentage of traffic to the new version of the application.

Answer: A

Explanation: 
https://cloud.google.com/run/docs/rollouts-rollbacks-traffic-migration

NEW QUESTION 94
- (Exam Topic 5)
A small number of API requests to your microservices-based application take a very long time. You know that each request to the API can traverse many services.
You want to know which service takes the longest in those cases. What should you do?

A. Set timeouts on your application so that you can fail requests faster.
B. Send custom metrics for each of your requests to Stackdriver Monitoring.
C. Use Stackdriver Monitoring to look for insights that show when your API latencies are high.
D. Instrument your application with Stackdnver Trace in order to break down the request latencies at each microservice.

Answer: D

Explanation: 
https://cloud.google.com/trace/docs/overview

NEW QUESTION 99
- (Exam Topic 5)
Your company is migrating its on-premises data center into the cloud. As part of the migration, you want to integrate Kubernetes Engine for workload orchestration.
Parts of your architecture must also be PCI DSScompliant.
Which of the following is most accurate?

A. App Engine is the only compute platform on GCP that is certified for PCI DSS hosting.
B. Kubernetes Engine cannot be used under PCI DSS because it is considered shared hosting.
C. Kubernetes Engine and GCP provide the tools you need to build a PCI DSS-compliant environment.
D. All Google Cloud services are usable because Google Cloud Platform is certified PCI-compliant.

Answer: D

Explanation: 
https://cloud.google.com/security/compliance/pci-dss

NEW QUESTION 104
- (Exam Topic 5)
Your company wants you to build a highly reliable web application with a few public APIs as the backend. You don’t expect a lot of user traffic, but traffic could
spike occasionally. You want to leverage Cloud Load Balancing, and the solution must be cost-effective for users. What should you do?

A. Store static content such as HTML and images in Cloud CD
B. Host the APIs on App Engine and store the user data in Cloud SQL.
C. Store static content such as HTML and images in a Cloud Storage bucke
D. Host the APIs on a zonal Google Kubernetes Engine cluster with worker nodes in multiple zones, and save the user data in Cloud Spanner.
E. Store static content such as HTML and images in Cloud CD
F. Use Cloud Run to host the APIs and save the user data in Cloud SQL.
G. Store static content such as HTML and images in a Cloud Storage bucke
H. Use Cloud Functions to host the APIs and save the user data in Firestore.

Answer: D

Explanation: 

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy Professional-Cloud-Architect dumps
https://www.2passeasy.com/dumps/Professional-Cloud-Architect/ (260 New Questions)

https://cloud.google.com/load-balancing/docs/https/setting-up-https-serverless#gcloud:-cloud-functions https://cloud.google.com/blog/products/networking/better-
load-balancing-for-app-engine-cloud-run-and-functio

NEW QUESTION 105
- (Exam Topic 5)
You are designing a large distributed application with 30 microservices. Each of your distributed microservices needs to connect to a database back-end. You want
to store the credentials securely. Where should you store the credentials?

A. In the source code
B. In an environment variable
C. In a secret management system
D. In a config file that has restricted access through ACLs

Answer: C

Explanation: 
https://cloud.google.com/docs/authentication/production#providing_credentials_to_your_application

NEW QUESTION 109
- (Exam Topic 5)
Your customer runs a web service used by e-commerce sites to offer product recommendations to users. The company has begun experimenting with a machine
learning model on Google Cloud Platform to improve the quality of results.
What should the customer do to improve their model’s results over time?

A. Export Cloud Machine Learning Engine performance metrics from Stackdriver to BigQuery, to be used to analyze the efficiency of the model.
B. Build a roadmap to move the machine learning model training from Cloud GPUs to Cloud TPUs, which offer better results.
C. Monitor Compute Engine announcements for availability of newer CPU architectures, and deploy the model to them as soon as they are available for additional
performance.
D. Save a history of recommendations and results of the recommendations in BigQuery, to be used as training data.

Answer: D

Explanation: 
https://cloud.google.com/solutions/building-a-serverless-ml-model

NEW QUESTION 112
- (Exam Topic 5)
You write a Python script to connect to Google BigQuery from a Google Compute Engine virtual machine. The script is printing errors that it cannot connect to
BigQuery. What should you do to fix the script?

A. Install the latest BigQuery API client library for Python
B. Run your script on a new virtual machine with the BigQuery access scope enabled
C. Create a new service account with BigQuery access and execute your script with that user
D. Install the bq component for gccloud with the command gcloud components install bq.

Answer: B

Explanation: 
The error is most like caused by the access scope issue. When create new instance, you have the default Compute engine default service account but most
serves access including BigQuery is not enable. Create an instance Most access are not enabled by default You have default service account but don't have the
permission (scope) you can stop the instance, edit, change scope and restart it to enable the scope access. Of course, if you Run your script on a new virtual
machine with the BigQuery access scope enabled, it also works
https://cloud.google.com/compute/docs/access/service-accounts

NEW QUESTION 115
- (Exam Topic 5)
Your company has an application running on Google Cloud that is collecting data from thousands of physical devices that are globally distributed. Data is publish
to Pub/Sub and streamed in real time into an SSO Cloud Bigtable cluster via a Dataflow pipeline. The operations team informs you that your Cloud Bigtable cluster
has a hot-spot and queries are taking longer man expected You need to resolve the problem and prevent it from happening in the future What should you do?

A. Advise your clients to use HBase APIs instead of NodeJS APIs.
B. Review your RowKey strategy and ensure that keys are evenly spread across the alphabet.
C. Delete records older than 30 days.
D. Double the number of nodes you currently have.

Answer: B

NEW QUESTION 119
- (Exam Topic 5)
You have deployed an application on Anthos clusters (formerly Anthos GKE). According to the SRE practices at your company you need to be alerted if the
request latency is above a certain threshold for a specified amount of time. What should you do?

A. Enable the Cloud Trace API on your project and use Cloud Monitoring Alerts to send an alert based on the Cloud Trace metrics
B. Configure Anthos Config Management on your cluster and create a yaml file that defines the SLO and alerting policy you want to deploy in your cluster
C. Use Cloud Profiler to follow up the request latenc
D. Create a custom metric in Cloud Monitoring based on the results of Cloud Profiler, and create an Alerting Policy in case this metric exceeds the threshold
E. Install Anthos Service Mesh on your cluste
F. Use the Google Cloud Console to define a Service Level Objective (SLO)
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Answer: D

Explanation: 
https://cloud.google.com/service-mesh/docs/overview https://cloud.google.com/service-mesh/docs/observability/slo-overview

NEW QUESTION 124
- (Exam Topic 5)
You are migrating third-party applications from optimized on-premises virtual machines to Google Cloud. You are unsure about the optimum CPU and memory
options. The application have a consistent usage patterns across multiple weeks. You want to optimize resource usage for the lowest cost. What should you do?

A. Create a Compute engine instance with CPU and Memory options similar to your application’s current on-premises virtual machin
B. Install the cloud monitoring agent, and deploy the third party applicatio
C. Run a load with normal traffic levels on third party application and follow the Rightsizing Recommendations in the Cloud Console
D. Create an App Engine flexible environment, and deploy the third party application using a Docker file and a custom runtim
E. Set CPU and memory options similar to your application’s current on-premisesvirtual machine in the app.yaml file.
F. Create an instance template with the smallest available machine type, and use an image of the third party application taken from the current on-premises virtual
machin
G. Create a managed instance group that uses average CPU to autoscale the number of instances in the grou
H. Modify the average CPU utilization threshold to optimize the number of instances running.
I. Create multiple Compute Engine instances with varying CPU and memory option
J. Install the cloud monitoring agent and deploy the third-party application on each of the
K. Run a load test with high traffic levels on the application and use the results to determine the optimal settings.

Answer: A

Explanation: 
Create a Compute engine instance with CPU and Memory options similar to your application’s current
on-premises virtual machine. Install the cloud monitoring agent, and deploy the third party application. Run a load with normal traffic levels on third party
application and follow the Rightsizing Recommendations in the Cloud Console
https://cloud.google.com/migrate/compute-engine/docs/4.9/concepts/planning-a-migration/cloud-instance-rights

NEW QUESTION 127
- (Exam Topic 5)
You have an application that makes HTTP requests to Cloud Storage. Occasionally the requests fail with HTTP status codes of 5xx and 429.
How should you handle these types of errors?

A. Use gRPC instead of HTTP for better performance.
B. Implement retry logic using a truncated exponential backoff strategy.
C. Make sure the Cloud Storage bucket is multi-regional for geo-redundancy.
D. Monitor https://status.cloud.google.com/feed.atom and only make requests if Cloud Storage is not reporting an incident.

Answer: A

Explanation: 
Reference https://cloud.google.com/storage/docs/json_api/v1/status-codes 

NEW QUESTION 128
- (Exam Topic 5)
Your company has just acquired another company, and you have been asked to integrate their existing Google Cloud environment into your company’s data
center. Upon investigation, you discover that some of the RFC 1918 IP ranges being used in the new company’s Virtual Private Cloud (VPC) overlap with your
data center IP space. What should you do to enable connectivity and make sure that there are no routing conflicts when connectivity is established?

A. Create a Cloud VPN connection from the new VPC to the data center, create a Cloud Router, and apply new IP addresses so there is no overlapping IP space.
B. Create a Cloud VPN connection from the new VPC to the data center, and create a Cloud NAT instance to perform NAT on the overlapping IP space.
C. Create a Cloud VPN connection from the new VPC to the data center, create a Cloud Router, and apply a custom route advertisement to block the overlapping
IP space.
D. Create a Cloud VPN connection from the new VPC to the data center, and apply a firewall rule that blocks the overlapping IP space.

Answer: A

Explanation: 
To connect two networks together we need (1) either VPN or interconnect and (2) peering. When there is peering, you cannot have conflicting IP addresses. You
can use either Cloud VPN or Cloud Interconnect to securely connect your on-premises network to your VPC network.
(https://cloud.google.com/vpc/docs/vpc-peering#transit-network) At the time of peering, Google Cloud checks to see if there are any subnet IP ranges that overlap
subnet IP ranges in the other network. If there is any overlap, peering is not established. (https://cloud.google.com/vpc/docs/vpc-peering#considerations) NAT is
used to translate private to public IP and vice versa, however because we are connecting 2 networks together, they become private IPs. So it is not applicable.

NEW QUESTION 129
- (Exam Topic 5)
Your company plans to migrate a multi-petabyte data set to the cloud. The data set must be available 24hrs a day. Your business analysts have experience only
with using a SQL interface. How should you store the data to optimize it for ease of analysis?

A. Load data into Google BigQuery.
B. Insert data into Google Cloud SQL.
C. Put flat files into Google Cloud Storage.
D. Stream data into Google Cloud Datastore.

Answer: A
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Explanation: 
Google Big Query is for multi peta byte storage , HA(High availability) which means 24 hours, SQL interface.
https://medium.com/google-cloud/the-12-components-of-google-bigquery-c2b49829a7c7 https://cloud.google.com/solutions/bigquery-data-warehouse
https://cloud.google.com/bigquery/
BigQuery is Google's serverless, highly scalable, low cost enterprise data warehouse designed to make all your data analysts productive. Because there is no
infrastructure to manage, you can focus on analyzing data to find meaningful insights using familiar SQL and you don't need a database administrator.
BigQuery enables you to analyze all your data by creating a logical data warehouse over managed, columnar storage as well as data from object storage, and
spreadsheets.
References: https://cloud.google.com/bigquery/

NEW QUESTION 133
- (Exam Topic 5)
You want to make a copy of a production Linux virtual machine in the US-Central region. You want to manage and replace the copy easily if there are changes on
the production virtual machine. You will deploy the copy as a new instances in a different project in the US-East region. What steps must you take?

A. Use the Linux dd and netcat command to copy and stream the root disk contents to a new virtual machine instance in the US-East region.
B. Create a snapshot of the root disk and select the snapshot as the root disk when you create a new virtual machine instance in the US-East region.
C. Create an image file from the root disk with Linux dd command, create a new disk from the image file, and use it to create a new virtual machine instance in the
US-East region
D. Create a snapshot of the root disk, create an image file in Google Cloud Storage from the snapshot, and create a new virtual machine instance in the US-East
region using the image file for the root disk.

Answer: D

Explanation: 
https://stackoverflow.com/questions/36441423/migrate-google-compute-engine-instance-to-a-different-region

NEW QUESTION 135
- (Exam Topic 5)
Your company has an application running on Compute Engine mat allows users to play their favorite music. There are a fixed number of instances Files are stored
in Cloud Storage and data is streamed directly to users. Users are reporting that they sometimes need to attempt to play popular songs multiple times before they
are successful. You need to improve the performance of the application. What should you do?

A. * 1. Copy popular songs into CloudSQL as a blob* 2. Update application code to retrieve data from CloudSQL when Cloud Storage is overloaded
B. * 1. Create a managed instance group with Compute Engine instances* 2. Create a global toad balancer and configure ii with two backbends* Managed
instance group* Cloud Storage bucket* 3. Enable Cloud CDN on the bucket backend
C. * 1. Mount the Cloud Storage bucket using gcsfuse on all backend Compute Engine instances* 2. Serve muse files directly from the backend Compute Engine
instance
D. * 1. Create a Cloud Filestore NFS volume and attach it to the backend Compute Engine instances* 2. Download popular songs in Cloud Filestore* 3. Serve
music Wes directly from the backend Compute Engine instance

Answer: B

NEW QUESTION 137
- (Exam Topic 5)
Your customer support tool logs all email and chat conversations to Cloud Bigtable for retention and analysis. What is the recommended approach for sanitizing
this data of personally identifiable information or payment card information before initial storage?

A. Hash all data using SHA256
B. Encrypt all data using elliptic curve cryptography
C. De-identify the data with the Cloud Data Loss Prevention API
D. Use regular expressions to find and redact phone numbers, email addresses, and credit card numbers

Answer: A

Explanation: 
Reference: https://cloud.google.com/solutions/pci-dss-compliance-ingcp# 

NEW QUESTION 141
- (Exam Topic 5)
Your company has a project in Google Cloud with three Virtual Private Clouds (VPCs). There is a Compute Engine instance on each VPC. Network subnets do not
overlap and must remain separated. The network configuration is shown below.
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Instance #1 is an exception and must communicate directly with both Instance #2 and Instance #3 via internal IPs. How should you accomplish this?

A. Create a cloud router to advertise subnet #2 and subnet #3 to subnet #1.
B. Add two additional NICs to Instance #1 with the following configuration:•NIC1VPC: VPC #2SUBNETWORK: subnet #2•NIC2VPC: VPC #3SUBNETWORK:
subnet #3Update firewall rules to enable traffic between instances.
C. Create two VPN tunnels via CloudVPN:•1 between VPC #1 and VPC #2.•1 between VPC #2 and VPC #3.Update firewall rules to enable traffic between the
instances.
D. Peer all three VPCs:•Peer VPC #1 with VPC #2.•Peer VPC #2 with VPC #3.Update firewall rules to enable traffic between the instances.

Answer: B

Explanation: 
As per GCP documentation: "By default, every instance in a VPC network has a single network interface. Use these instructions to create additional network
interfaces. Each interface is attached to a different VPC network, giving that instance access to different VPC networks in Google Cloud. You cannot attach
multiple network interfaces to the same VPC network." Refer to:
https://cloud.google.com/vpc/docs/create-use-multiple-interfaces
https://cloud.google.com/vpc/docs/create-use-multiple-interfaces#i_am_not_able_to_connect_to_secondary_inte

NEW QUESTION 142
- (Exam Topic 5)
You need to set up Microsoft SQL Server on GCP. Management requires that there’s no downtime in case of a data center outage in any of the zones within a
GCP region. What should you do?

A. Configure a Cloud SQL instance with high availability enabled.
B. Configure a Cloud Spanner instance with a regional instance configuration.
C. Set up SQL Server on Compute Engine, using Always On Availability Groups using Windows Failover Clusterin
D. Place nodes in different subnets.
E. Set up SQL Server Always On Availability Groups using Windows Failover Clusterin
F. Place nodes in different zones.

Answer: D

Explanation: 
https://cloud.google.com/sql/docs/sqlserver/configure-ha

NEW QUESTION 145
- (Exam Topic 5)
A development team at your company has created a dockerized HTTPS web application. You need to deploy the application on Google Kubernetes Engine (GKE)
and make sure that the application scales automatically.
How should you deploy to GKE?

A. Use the Horizontal Pod Autoscaler and enable cluster autoscalin
B. Use an Ingress resource to loadbalance the HTTPS traffic.
C. Use the Horizontal Pod Autoscaler and enable cluster autoscaling on the Kubernetes cluste
D. Use a Service resource of type LoadBalancer to load-balance the HTTPS traffic.
E. Enable autoscaling on the Compute Engine instance grou
F. Use an Ingress resource to load balance the HTTPS traffic.
G. Enable autoscaling on the Compute Engine instance grou
H. Use a Service resource of type LoadBalancer to load-balance the HTTPS traffic.

Answer: B

Explanation: 
https://cloud.google.com/kubernetes-engine/docs/tutorials/http-balancer https://cloud.google.com/kubernetes-engine/docs/concepts/network-overview#ext-lb
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NEW QUESTION 150
- (Exam Topic 5)
Your company has an application running on multiple Compute Engine instances. You need to ensure that the application can communicate with an on-premises
service that requires high throughput via internal IPs, while minimizing latency. What should you do?

A. Use OpenVPN to configure a VPN tunnel between the on-premises environment and Google Cloud.
B. Configure a direct peering connection between the on-premises environment and Google Cloud.
C. Use Cloud VPN to configure a VPN tunnel between the on-premises environment and Google Cloud.
D. Configure a Cloud Dedicated Interconnect connection between the on-premises environment and Google Cloud.

Answer: C

Explanation: 
Reference https://cloud.google.com/architecture/setting-up-private-access-to-cloud-apis-through-vpn-tunnels

NEW QUESTION 152
- (Exam Topic 5)
All compute Engine instances in your VPC should be able to connect to an Active Directory server on specific ports. Any other traffic emerging from your instances
is not allowed. You want to enforce this using VPC firewall rules.
How should you configure the firewall rules?

A. Create an egress rule with priority 1000 to deny all traffic for all instance
B. Create another egress rule with priority 100 to allow the Active Directory traffic for all instances.
C. Create an egress rule with priority 100 to deny all traffic for all instance
D. Create another egress rule with priority 1000 to allow the Active Directory traffic for all instances.
E. Create an egress rule with priority 1000 to allow the Active Directory traffi
F. Rely on the implied deny egress rule with priority 100 to block all traffic for all instances.
G. Create an egress rule with priority 100 to allow the Active Directory traffi
H. Rely on the implied deny egress rule with priority 1000 to block all traffic for all instances.

Answer: B

Explanation: 
https://cloud.google.com/vpc/docs/firewalls

NEW QUESTION 153
- (Exam Topic 5)
Your company is planning to upload several important files to Cloud Storage. After the upload is completed, they want to verify that the upload content is identical
to what they have on- premises. You want to minimize the cost and effort of performing this check. What should you do?

A. 1) Use gsutil -m to upload all the files to Cloud Storage.2) Use gsutil cp to download the uploaded files3) Use Linux diff to compare the content of the files
B. 1) Use gsutil -m to upload all the files to Cloud Storage.2) Develop a custom Java application that computes CRC32C hashes3) Use gsutil ls -L
gs://[YOUR_BUCKET_NAME] to collect CRC32C hashes of the uploaded files 4)Compare the hashes
C. 1) Use Linux shasum to compute a digest of files you want to upload2) Use gsutil -m to upload all the files to the Cloud Storage3) Use gsutil cp to download the
uploaded files4) Use Linux shasum to compute a digest of the downloaded files 5.Compre the hashes
D. 1)Use gsutil -m to upload all the files to Cloud Storage.2) Use gsutil hash -c FILE_NAME to generate CRC32C hashes of all on-premises files3) Use gsutil ls -L
gs://[YOUR_BUCKET_NAME] to collect CRC32C hashes of the uploaded files 4)Compare the hashes

Answer: D

Explanation: 
https://cloud.google.com/storage/docs/gsutil/commands/hash

NEW QUESTION 156
- (Exam Topic 5)
Your marketing department wants to send out a promotional email campaign. The development team wants to minimize direct operation management. They
project a wide range of possible customer responses, from 100 to 500,000 click-throughs per day. The link leads to a simple website that explains the promotion
and collects user information and preferences. Which infrastructure should you recommend? (CHOOSE TWO)

A. Use Google App Engine to serve the website and Google Cloud Datastore to store user data.
B. Use a Google Container Engine cluster to serve the website and store data to persistent disk.
C. Use a managed instance group to serve the website and Google Cloud Bigtable to store user data.
D. Use a single compute Engine virtual machine (VM) to host a web server, backed by Google Cloud SQL.

Answer: AC

Explanation: 
Reference: https://cloud.google.com/storage-options/ References: https://cloud.google.com/storage-options/

NEW QUESTION 158
- (Exam Topic 5)
You have an application that runs in Google Kubernetes Engine (GKE). Over the last 2 weeks, customers have reported that a specific part of the application
returns errors very frequently. You currently have no logging or monitoring solution enabled on your GKE cluster. You want to diagnose the problem, but you have
not been able to replicate the issue. You want to cause minimal disruption to the application. What should you do?

A. * 1. Update your GKE cluster to use Cloud Operations for GKE.* 2. Use the GKE Monitoring dashboard to investigate logs from affected Pods.
B. * 1. Create a new GKE cluster with Cloud Operations for GKE enabled.* 2. Migrate the affected Pods to the new cluster, and redirect traffic for those Pods to the
new cluster.* 3. Use the GKE Monitoring dashboard to investigate logs from affected Pods.
C. * 1. Update your GKE cluster to use Cloud Operations for GKE, and deploy Prometheus.* 2. Set an alert to trigger whenever the application returns an error.
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D. * 1. Create a new GKE cluster with Cloud Operations for GKE enabled, and deploy Prometheus.* 2. Migrate the affected Pods to the new cluster, and redirect
traffic for those Pods to the new cluste
E. * 3. Set an alert to trigger whenever the application returns an error.

Answer: A

Explanation: 
Reference: https://cloud.google.com/blog/products/management-tools/using-logging-your-apps-running- kubernetes-engine

NEW QUESTION 162
- (Exam Topic 5)
You created a pipeline that can deploy your source code changes to your infrastructure in instance groups for self healing.
One of the changes negatively affects your key performance indicator. You are not sure how to fix it and investigation could take up to a week.
What should you do

A. Log in to a server, and iterate a fix locally
B. Change the instance group template to the previous one, and delete all instances.
C. Revert the source code change and rerun the deployment pipeline
D. Log into the servers with the bad code change, and swap in the previous code

Answer: C

NEW QUESTION 165
- (Exam Topic 5)
Your development team has installed a new Linux kernel module on the batch servers in Google Compute Engine (GCE) virtual machines (VMs) to speed up the
nightly batch process. Two days after the installation, 50% of web application deployed in the same
nightly batch run. You want to collect details on the failure to pass back to the development team. Which three actions should you take? Choose 3 answers

A. Use Stackdriver Logging to search for the module log entries.
B. Read the debug GCE Activity log using the API or Cloud Console.
C. Use gcloud or Cloud Console to connect to the serial console and observe the logs.
D. Identify whether a live migration event of the failed server occurred, using in the activity log.
E. Adjust the Google Stackdriver timeline to match the failure time, and observe the batch server metrics.
F. Export a debug VM into an image, and run the image on a local server where kernel log messages will be displayed on the native screen.

Answer: ACE

Explanation: 
https://www.flexera.com/blog/cloud/2013/12/google-compute-engine-live-migration-passes-the-test/ "With live migration, the virtual machines are moved without
any downtime or noticeable service
degradation"

NEW QUESTION 167
- (Exam Topic 5)
You want to automate the creation of a managed instance group and a startup script to install the OS package dependencies. You want to minimize the startup
time for VMs in the instance group.
What should you do?

A. Use Terraform to create the managed instance group and a startup script to install the OS package dependencies.
B. Create a custom VM image with all OS package dependencie
C. Use Deployment Manager to create the managed instance group with the VM image.
D. Use Puppet to create the managed instance group and install the OS package dependencies.
E. Use Deployment Manager to create the managed instance group and Ansible to install the OS package dependencies.

Answer: B

Explanation: 
"Custom images are more deterministic and start more quickly than instances with startup scripts. However, startup scripts are more flexible and let you update the
apps and settings in your instances more easily." https://cloud.google.com/compute/docs/instance-templates/create-instance-templates#using_custom_or_public_i

NEW QUESTION 171
- (Exam Topic 5)
You have an application that will run on Compute Engine. You need to design an architecture that takes into account a disaster recovery plan that requires your
application to fail over to another region in case of a regional outage. What should you do?

A. Deploy the application on two Compute Engine instances in the same project but in a different region.Use the first instance to serve traffic, and use the HTTP
load balancing service to fail over to the standby instance in case of a disaster.
B. Deploy the application on a Compute Engine instanc
C. Use the instance to serve traffic, and use the HTTP load balancing service to fail over to an instance on your premises in case of a disaster.
D. Deploy the application on two Compute Engine instance groups, each in the same project but in adifferent regio
E. Use the first instance group to serve traffic, and use the HTTP load balancing service to fail over to the standby instance group in case of a disaster.
F. Deploy the application on two Compute Engine instance groups, each in separate project and a different regio
G. Use the first instance group to server traffic, and use the HTTP load balancing service to fail over to the standby instance in case of a disaster.

Answer: C

NEW QUESTION 173
- (Exam Topic 5)
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Your company has a networking team and a development team. The development team runs applications on Compute Engine instances that contain sensitive
data. The development team requires administrative permissions for Compute Engine. Your company requires all network resources to be managed by the
networking team. The development team does not want the networking team to have access to the sensitive data on the instances. What should you do?

A. * 1. Create a project with a standalone VPC and assign the Network Admin role to the networking team.* 2. Create a second project with a standalone VPC and
assign the Compute Admin role to the development team.* 3. Use Cloud VPN to join the two VPCs.
B. * 1. Create a project with a standalone Virtual Private Cloud (VPC), assign the Network Admin role to the networking team, and assign the Compute Admin role
to the development team.
C. * 1. Create a project with a Shared VPC and assign the Network Admin role to the networking team.* 2. Create a second project without a VPC, configure it as a
Shared VPC service project, and assign the Compute Admin role to the development team.
D. * 1. Create a project with a standalone VPC and assign the Network Admin role to the networking team.* 2. Create a second project with a standalone VPC and
assign the Compute Admin role to the development team.* 3. Use VPC Peering to join the two VPCs.

Answer: C

Explanation: 
In this scenario, a large organization has a central team that manages security and networking controls for the entire organization. Developers do not have
permissions to make changes to any network or security settings defined by the security and networking team but they are granted permission to create resources
such as virtual machines in shared subnets. To facilitate this the organization makes use of a shared VPC (Virtual Private Cloud). A shared VPC allows creation of
a VPC network of RFC 1918 IP spaces that associated projects (service projects) can then use. Developers using the associated projects can create VM instances
in the shared VPC network spaces. The organization's network and security admins can create subnets, VPNs, and firewall rules usable by all the projects in the
VPC network.
https://cloud.google.com/iam/docs/job-functions/networking#single_team_manages_security_network_for_orga
Reference: https://cloud.google.com/vpc/docs/shared-vpc

NEW QUESTION 177
- (Exam Topic 5)
You want to create a private connection between your instances on Compute Engine and your on-premises data center. You require a connection of at least 20
Gbps. You want to follow Google-recommended practices.
How should you set up the connection?

A. Create a VPC and connect it to your on-premises data center using Dedicated Interconnect.
B. Create a VPC and connect it to your on-premises data center using a single Cloud VPN.
C. Create a Cloud Content Delivery Network (Cloud CDN) and connect it to your on-premises data center using Dedicated Interconnect.
D. Create a Cloud Content Delivery Network (Cloud CDN) and connect it to your on-premises datacenter using a single Cloud VPN.

Answer: A

Explanation: 
Reference: https://cloud.google.com/compute/docs/instances/connecting-advanced 

NEW QUESTION 179
- (Exam Topic 5)
You company has a Kubernetes application that pulls messages from Pub/Sub and stores them in Firestore. Because the application is simple, it was deployed as
a single pod. The infrastructure team has analyzed Pub/Sub metrics and discovered that the application cannot process the messages in real time. Most of them
wait for minutes before being processed. You need to scale the elaboration process that is I/O-intensive. What should you do?

A. Configure a Kubernetes autoscaling based on the subscription/push_request metric.
B. Use the –enable- autoscaling flag when you create the Kubernetes cluster
C. Configure a Kubernetes autoscaling based on the subscription/num_undelivered message metric.
D. Use kubectl autoscale deployment APP_NAME –max 6 –min 2 –cpu- percent 50 to configure Kubernetes autoscaling deployment

Answer: A

Explanation: 
https://cloud.google.com/kubernetes-engine/docs/concepts/custom-and-external-metrics#external_metrics

NEW QUESTION 180
- (Exam Topic 5)
You want your Google Kubernetes Engine cluster to automatically add or remove nodes based on CPUload. What should you do?

A. Configure a HorizontalPodAutoscaler with a target CPU usag
B. Enable the Cluster Autoscaler from the GCP Console.
C. Configure a HorizontalPodAutoscaler with a target CPU usag
D. Enable autoscaling on the managed instance group for the cluster using the gcloud command.
E. Create a deployment and set the maxUnavailable and maxSurge propertie
F. Enable the Cluster Autoscaler using the gcloud command.
G. Create a deployment and set the maxUnavailable and maxSurge propertie
H. Enable autoscaling on the cluster managed instance group from the GCP Console.

Answer: B

NEW QUESTION 183
- (Exam Topic 5)
You need to develop procedures to verify resilience of disaster recovery for remote recovery using GCP. Your production environment is hosted on-premises. You
need to establish a secure, redundant connection between your on premises network and the GCP network.
What should you do?

A. Verify that Dedicated Interconnect can replicate files to GC
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B. Verify that direct peering can establish a secure connection between your networks if Dedicated Interconnect fails.
C. Verify that Dedicated Interconnect can replicate files to GC
D. Verify that Cloud VPN can establish a secure connection between your networks if Dedicated Interconnect fails.
E. Verify that the Transfer Appliance can replicate files to GC
F. Verify that direct peering can establish a secure connection between your networks if the Transfer Appliance fails.
G. Verify that the Transfer Appliance can replicate files to GC
H. Verify that Cloud VPN can establish a secure connection between your networks if the Transfer Appliance fails.

Answer: B

Explanation: 
https://cloud.google.com/interconnect/docs/how-to/direct-peering

NEW QUESTION 188
- (Exam Topic 5)
An application development team believes their current logging tool will not meet their needs for their new cloud-based product. They want a bettor tool to capture
errors and help them analyze their historical log data. You want to help them find a solution that meets their needs, what should you do?

A. Direct them to download and install the Google StackDriver logging agent.
B. Send them a list of online resources about logging best practices.
C. Help them define their requirements and assess viable logging tools.
D. Help them upgrade their current tool to take advantage of any new features.

Answer: C

Explanation: 
Help them define their requirements and assess viable logging tools. They know the requirements and the existing tools' problems. While it's true StackDriver
Logging and Error Reporting possibly meet all their requirements, there might be other tools also meet their need. They need you to provide expertise to make
assessment for new tools, specifically, logging tools that can "capture errors and help them analyze their historical log data".
References: https://cloud.google.com/logging/docs/agent/installation

NEW QUESTION 189
- (Exam Topic 5)
You are creating an App Engine application that uses Cloud Datastore as its persistence layer. You need to retrieve several root entities for which you have the
identifiers. You want to minimize the overhead in operations performed by Cloud Datastore. What should you do?

A. Create the Key object for each Entity and run a batch get operation
B. Create the Key object for each Entity and run multiple get operations, one operation for each entity
C. Use the identifiers to create a query filter and run a batch query operation
D. Use the identifiers to create a query filter and run multiple query operations, one operation for each entity

Answer: C

Explanation: 
https://cloud.google.com/datastore/docs/concepts/entities#datastore-datastore-batch-upsert-nodejs

NEW QUESTION 192
- (Exam Topic 5)
Your company is forecasting a sharp increase in the number and size of Apache Spark and Hadoop jobs being run on your local datacenter You want to utilize the
cloud to help you scale this upcoming demand with the least amount of operations work and code change. Which product should you use?

A. Google Cloud Dataflow
B. Google Cloud Dataproc
C. Google Compute Engine
D. Google Container Engine

Answer: B

Explanation: 
Google Cloud Dataproc is a fast, easy-to-use, low-cost and fully managed service that lets you run the Apache Spark and Apache Hadoop ecosystem on Google
Cloud Platform. Cloud Dataproc provisions big or small clusters rapidly, supports many popular job types, and is integrated with other Google Cloud Platform
services, such as Google Cloud Storage and Stackdriver Logging, thus helping you reduce TCO.
References: https://cloud.google.com/dataproc/docs/resources/faq

NEW QUESTION 197
- (Exam Topic 5)
You are helping the QA team to roll out a new load-testing tool to test the scalability of your primary cloud services that run on Google Compute Engine with Cloud
Bigtable. Which three requirements should they include? Choose 3 answers

A. Ensure that the load tests validate the performance of Cloud Bigtable.
B. Create a separate Google Cloud project to use for the load-testing environment.
C. Schedule the load-testing tool to regularly run against the production environment.
D. Ensure all third-party systems your services use are capable of handling high load.
E. Instrument the production services to record every transaction for replay by the load-testing tool.
F. Instrument the load-testing tool and the target services with detailed logging and metrics collection.

Answer: ABF
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NEW QUESTION 199
- (Exam Topic 5)
Your company recently acquired a company that has infrastructure in Google Cloud. Each company has its own Google Cloud organization Each company is using
a Shared Virtual Private Cloud (VPC) to provide network connectivity tor its applications Some of the subnets used by both companies overlap In order for both
businesses to integrate, the applications need to have private network connectivity. These applications are not on overlapping subnets. You want to provide
connectivity with minimal re-engineering. What should you do?

A. Set up VPC peering and peer each Shared VPC together
B. Configure SSH port forwarding on each application to provide connectivity between applications i thedifferent Shared VPCs
C. Migrate the protects from the acquired company into your company's Google Cloud organization Re launch the instances in your companies Shared VPC
D. Set up a Cloud VPN gateway in each Shared VPC and peer Cloud VPNs

Answer: B

NEW QUESTION 204
- (Exam Topic 5)
You are developing your microservices application on Google Kubernetes Engine. During testing, you want to validate the behavior of your application in case a
specific microservice should suddenly crash. What should you do?

A. Add a taint to one of the nodes of the Kubernetes cluste
B. For the specific microservice, configure a pod anti-affinity label that has the name of the tainted node as a value.
C. Use Istio’s fault injection on the particular microservice whose faulty behavior you want to simulate.
D. Destroy one of the nodes of the Kubernetes cluster to observe the behavior.
E. Configure Istio’s traffic management features to steer the traffic away from a crashing microservice.

Answer: B

Explanation: 
Microservice runs on all nodes. The Micro service runs on Pod, Pod runs on Nodes. Nodes is nothing but Virtual machines. Once deployed the application
microservices will get deployed across all Nodes. Destroying one node may not mimic the behaviour of microservice crashing as it may be running in other nodes.
link: https://istio.io/latest/docs/tasks/traffic-management/fault-injection/

NEW QUESTION 206
- (Exam Topic 6)
For this question, refer to the Dress4Win case study. You are responsible for the security of data stored in Cloud Storage for your company, Dress4Win. You have
already created a set of Google Groups and assigned the appropriate users to those groups. You should use Google best practices and implement the simplest
design to meet the requirements.
Considering Dress4Win’s business and technical requirements, what should you do?

A. Assign custom IAM roles to the Google Groups you created in order to enforce security requirements.Encrypt data with a customer-supplied encryption key
when storing files in Cloud Storage.
B. Assign custom IAM roles to the Google Groups you created in order to enforce security requirements.Enable default storage encryption before storing files in
Cloud Storage.
C. Assign predefined IAM roles to the Google Groups you created in order to enforce security requirements.Utilize Google’s default encryption at rest when storing
files in Cloud Storage.
D. Assign predefined IAM roles to the Google Groups you created in order to enforce security requirement
E. Ensure that the default Cloud KMS key is set before storing files in Cloud Storage.

Answer: D

Explanation: 
https://cloud.google.com/iam/docs/understanding-service-accounts

NEW QUESTION 209
- (Exam Topic 7)
For this question, refer to the TerramEarth case study. TerramEarth has decided to store data files in Cloud Storage. You need to configure Cloud Storage lifecycle
rule to store 1 year of data and minimize file storage cost.
Which two actions should you take?

A. Create a Cloud Storage lifecycle rule with Age: “30”, Storage Class: “Standard”, and Action: “Set to Coldline”, and create a second GCS life-cycle rule with
Age: “365”, Storage Class: “Coldline”, and Action: “Delete”.
B. Create a Cloud Storage lifecycle rule with Age: “30”, Storage Class: “Coldline”, and Action: “Set to Nearline”, and create a second GCS life-cycle rule with
Age: “91”, Storage Class: “Coldline”, and Action: “Set to Nearline”.
C. Create a Cloud Storage lifecycle rule with Age: “90”, Storage Class: “Standard”, and Action: “Set to Nearline”, and create a second GCS life-cycle rule with
Age: “91”, Storage Class: “Nearline”, and Action: “Set to Coldline”.
D. Create a Cloud Storage lifecycle rule with Age: “30”, Storage Class: “Standard”, and Action: “Set to Coldline”, and create a second GCS life-cycle rule with
Age: “365”, Storage Class: “Nearline”, and Action: “Delete”.

Answer: A

NEW QUESTION 212
- (Exam Topic 7)
TerramEarth has about 1 petabyte (PB) of vehicle testing data in a private data center. You want to move the data to Cloud Storage for your machine learning
team. Currently, a 1-Gbps interconnect link is available for you. The machine learning team wants to start using the data in a month. What should you do?

A. Request Transfer Appliances from Google Cloud, export the data to appliances, and return the appliances to Google Cloud.
B. Configure the Storage Transfer service from Google Cloud to send the data from your data center to Cloud Storage
C. Make sure there are no other users consuming the 1 Gbps link, and use multi-thread transfer to upload the data to Cloud Storage.
D. Export files to an encrypted USB device, send the device to Google Cloud, and request an import of the data to Cloud Storage
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Answer: A

NEW QUESTION 213
- (Exam Topic 7)
For this question, refer to the TerramEarth case study.
You start to build a new application that uses a few Cloud Functions for the backend. One use case requires a Cloud Function func_display to invoke another
Cloud Function func_query. You want func_query only to accept invocations from func_display. You also want to follow Google's recommended best practices.
What should you do?

A. Create a token and pass it in as an environment variable to func_displa
B. When invoking func_query, include the token in the request Pass the same token to func _query and reject the invocation if the tokens are different.
C. Make func_query 'Require authentication.' Create a unique service account and associate it to func_displa
D. Grant the service account invoker role for func_quer
E. Create an id token in func_display and include the token to the request when invoking func_query.
F. Make func _query 'Require authentication' and only accept internal traffi
G. Create those two functions in the same VP
H. Create an ingress firewall rule for func_query to only allow traffic from func_display.
I. Create those two functions in the same project and VP
J. Make func_query only accept internal traffic.Create an ingress firewall for func_query to only allow traffic from func_displa
K. Also, make sure both functions use the same service account.

Answer: B

Explanation: 
https://cloud.google.com/functions/docs/securing/authenticating#authenticating_function_to_function_calls

NEW QUESTION 218
- (Exam Topic 7)
For this question, refer to the TerramEarth case study. A new architecture that writes all incoming data to BigQuery has been introduced. You notice that the data
is dirty, and want to ensure data quality on an automated daily basis while managing cost.
What should you do?

A. Set up a streaming Cloud Dataflow job, receiving data by the ingestion proces
B. Clean the data in a Cloud Dataflow pipeline.
C. Create a Cloud Function that reads data from BigQuery and cleans i
D. Trigger i
E. Trigger the Cloud Function from a Compute Engine instance.
F. Create a SQL statement on the data in BigQuery, and save it as a vie
G. Run the view daily, and save the result to a new table.
H. Use Cloud Dataprep and configure the BigQuery tables as the sourc
I. Schedule a daily job to clean the data.

Answer: A

NEW QUESTION 219
- (Exam Topic 7)
You have broken down a legacy monolithic application into a few containerized RESTful microservices. You want to run those microservices on Cloud Run. You
also want to make sure the services are highly available with low latency to your customers. What should you do?

A. Deploy Cloud Run services to multiple availability zone
B. Create Cloud Endpoints that point to the service
C. Create a global HTIP(S) Load Balancing instance and attach the Cloud Endpoints to its backend.
D. Deploy Cloud Run services to multiple regions Create serverless network endpoint groups pointing to the service
E. Add the serverless NE Gs to a backend service that is used by a global HTIP(S) Load Balancing instance.
F. Cloud Run services to multiple region
G. In Cloud DNS, create a latency-based DNS name that points to the services.
H. Deploy Cloud Run services to multiple availability zone
I. Create a TCP/IP global load balance
J. Add the Cloud Run Endpoints to its backend service.

Answer: B

Explanation: 
https://cloud.google.com/run/docs/multiple-regions

NEW QUESTION 221
- (Exam Topic 8)
For this question, refer to the Mountkirk Games case study. You are in charge of the new Game Backend Platform architecture. The game communicates with the
backend over a REST API.
You want to follow Google-recommended practices. How should you design the backend?

A. Create an instance template for the backen
B. For every region, deploy it on a multi-zone managed instance grou
C. Use an L4 load balancer.
D. Create an instance template for the backen
E. For every region, deploy it on a single-zone managed instance grou
F. Use an L4 load balancer.
G. Create an instance template for the backen
H. For every region, deploy it on a multi-zone managed instance grou
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I. Use an L7 load balancer.
J. Create an instance template for the backen
K. For every region, deploy it on a single-zone managed instance grou
L. Use an L7 load balancer.

Answer: C

Explanation: 
https://cloud.google.com/solutions/gaming/cloud-game-infrastructure#dedicated_game_server 

NEW QUESTION 223
- (Exam Topic 8)
For this question, refer to the Mountkirk Games case study. Mountkirk Games wants you to design a way to test the analytics platform’s resilience to changes in
mobile network latency. What should you do?

A. Deploy failure injection software to the game analytics platform that can inject additional latency to mobile client analytics traffic.
B. Build a test client that can be run from a mobile phone emulator on a Compute Engine virtual machine, and run multiple copies in Google Cloud Platform
regions all over the world to generate realistic traffic.
C. Add the ability to introduce a random amount of delay before beginning to process analytics files uploaded from mobile devices.
D. Create an opt-in beta of the game that runs on players' mobile devices and collects response times from analytics endpoints running in Google Cloud Platform
regions all over the world.

Answer: D

NEW QUESTION 226
- (Exam Topic 8)
For this question, refer to the Mountkirk Games case study. Mountkirk Games wants to migrate from their current analytics and statistics reporting model to one
that meets their technical requirements on Google Cloud Platform.
Which two steps should be part of their migration plan? (Choose two.)

A. Evaluate the impact of migrating their current batch ETL code to Cloud Dataflow.
B. Write a schema migration plan to denormalize data for better performance in BigQuery.
C. Draw an architecture diagram that shows how to move from a single MySQL database to a MySQL cluster.
D. Load 10 TB of analytics data from a previous game into a Cloud SQL instance, and run test queries against the full dataset to confirm that they complete
successfully.
E. Integrate Cloud Armor to defend against possible SQL injection attacks in analytics files uploaded to Cloud Storage.

Answer: AB

Explanation: 
https://cloud.google.com/bigquery/docs/loading-data#loading_denormalized_nested_and_repeated_data

NEW QUESTION 227
- (Exam Topic 8)
Your development team has created a mobile game app. You want to test the new mobile app on Android and iOS devices with a variety of configurations. You
need to ensure that testing is efficient and cost-effective.
What should you do?

A. Upload your mobile app to the Firebase Test Lab, and test the mobile app on Android and iOS devices.
B. Create Android and iOS VMs on Google Cloud, install the mobile app on the VMs, and test the mobile app.
C. Create Android and iOS containers on Google Kubernetes Engine (GKE), install the mobile app on the containers, and test the mobile app.
D. Upload your mobile app with different configurations to Firebase Hosting and test each configuration.

Answer: C

NEW QUESTION 230
- (Exam Topic 10)
For this question, refer to the EHR Healthcare case study. You need to define the technical architecture for securely deploying workloads to Google Cloud. You
also need to ensure that only verified containers are deployed using Google Cloud services. What should you do? (Choose two.)

A. Enable Binary Authorization on GKE, and sign containers as part of a CI/CD pipeline.
B. Configure Jenkins to utilize Kritis to cryptographically sign a container as part of a CI/CD pipeline.
C. Configure Container Registry to only allow trusted service accounts to create and deploy containers from the registry.
D. Configure Container Registry to use vulnerability scanning to confirm that there are no vulnerabilities before deploying the workload.

Answer: A

Explanation: 
Binary Authorization to ensure only verified containers are deployed To ensure deployment are secure and and consistent, automatically scan images for
vulnerabilities with container analysis (https://cloud.google.com/docs/ci-cd/overview?hl=en&skip_cache=true)

NEW QUESTION 233
- (Exam Topic 10)
You need to upgrade the EHR connection to comply with their requirements. The new connection design must support business-critical needs and meet the same
network and security policy requirements. What should you do?

A. Add a new Dedicated Interconnect connection.
B. Upgrade the bandwidth on the Dedicated Interconnect connection to 100 G.
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C. Add three new Cloud VPN connections.
D. Add a new Carrier Peering connection.

Answer: D

NEW QUESTION 234
......

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy Professional-Cloud-Architect dumps
https://www.2passeasy.com/dumps/Professional-Cloud-Architect/ (260 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual Professional-Cloud-Architect Exam Questions With
Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
Professional-Cloud-Architect Product From:

https://www.2passeasy.com/dumps/Professional-Cloud-Architect/

Money Back Guarantee

 

Professional-Cloud-Architect Practice Exam Features:

* Professional-Cloud-Architect Questions and Answers Updated Frequently

* Professional-Cloud-Architect Practice Questions Verified by Expert Senior Certified Staff

* Professional-Cloud-Architect Most Realistic Questions that Guarantee you a Pass on Your FirstTry

* Professional-Cloud-Architect Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Year

Powered by TCPDF (www.tcpdf.org)

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com

http://www.tcpdf.org

